
Operations with Various Base Numbers (J)

Calculate each answer. Note: 0 (zero) O (letter).

55178
× 508

89H920
+ A58220

120114
− 20304

66628
− 55778

11112
× 112

A02712
+ 5A9012

20003
− 11113

J1IF20
− 58FF20

103)101103 121103
− 22013

C43116
× 9816

FC20)1EBFCG20

12003
+ 2123

12223
− 2013

1LG3Q36
− S4ZA36

1102
+ 10012

14445
× 125

11224
+ 20334

112305
− 20435

75C416
× 7816
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Operations with Various Base Numbers (J) Answers

Calculate each answer. Note: 0 (zero) O (letter).

55178
× 508

3421308

89H920
+ A58220

IF5B20

120114
− 20304

33214

66628
− 55778

10638

11112
× 112

1011012

A02712
+ 5A9012
13AB712

20003
− 11113

1123

J1IF20
− 58FF20

DD3020

103)101103

10113
121103

− 22013
22023

C43116
× 9816

747D1816

FC20)1EBFCG20

246I20

12003
+ 2123
21123

12223
− 2013
10213

1LG3Q36
− S4ZA36

TB4G36

1102
+ 10012

11112

14445
× 125
234335

11224
+ 20334

32214

112305
− 20435

41325

75C416
× 7816

3733E016
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